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% Percent

zEWALT SO[VC reo,son'm9 Problems ITO find Percentages OJT amounts.

%% I) A EOOSITCF COSES 524q0 HOW much WOUld a 600/0 saving IDCP
%% 2) A I(CEHC COSITS E378O HOW much WOU[C[ a 700/0 saving bep
ig) A microwave COS[TS £7860 HOW much WOLL[CJ, an 800/0 saving

be?
i L) A camera costs £9850. How much would o 40% saving be?
5) A Samsung tablet costs £116.40. How much would o 30%
Yo g
%% saving be?
g

%% 6) A coal costs £4920. How much would a 35% saving be?
%% 7 A Po,ir of brainers costs £93.60. How much would o 45%

%% so,vin9 be?
%% 8) A lracksuit costs £104.80. How much would a 65% saving be? %%
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%% D A table costs £112.40. How much would an 85% saving be? %%
%% 10) A chair costs £219.20. How much would a 95% saving be? %%
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zEWALT SO[VC reasoning Problems ITO find Percentages OJT amounts.

% Il) A bOX Of Cl’IOCOlOITCS COSIT £420
%% HOW much WOUld a 50/0 so,ving l:)ep

%% |2) A ChOCOer,ITC COI(C COSITS £64O
% HOW mu,ch WOU[CJ, a 50/0 so,ving bep

g 13) A b-shirl costs £12.80.
%% How much would a 15% saving be?
w

14) A coal costs £34.60.
%
HOW much WOU[CJ, a |50/O savin bep
g J

7 15) A sora costs £3600

HOW mu,ch WOU[Cl a |O/O so,v'mg be?

Percentages
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